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AN BESAD

H: dUAYHE=R -2 2E
HRXNYES Qglmet =4 CEERED)
S2A-ZH () - HRAY - BES Ofl & oH JEH Hn&s2Z
Al 2,366,624 2,124,097 242,527
= 15,503 15,515 A2
< 24,209 18,037 6,172
Al 2,326,912 2,090,545 236,367
XNEEE U-S2 28 2,300,981 2,059, 199 241,782
= 15,503 15,515 A2
< 24,209 18,037 6,172
Al 2,261,269 2,025,647 235,622
dUXNYEE eloer x4 1,518,516 1,276,734 241,782
= 10,223 10,235 A2
< 6,172 0 6,172
Al 1,502,121 1,266,499 235,622
ANz 23 SSIIBAAH”E 2= 319,150 306,806 12,344
= 4,025 4,025 0
< 6,172 0 6,172
Al 308,953 302,781 6,172
403 A X EHHSH20IA 301,436 289,092 12,344
< 6,172 0 6,172
Al 295,264 289,092 6,172
02 SIS0l CH 8HCH & AF & HI 301,436 289,092 12,344
ONYHI(MS) HIOIHMNY AMEFX
12,344 ,000& *1 12,344 0 12,344
< 6,172 0 6,172
Al 6,172 0 6,172
HEMAZH Y 595,060 365,610 229,450
405 THobH S| 595,060 365,610 229,450
01 AL =S FH St 595,060 365,610 229,450
OHFARE =% PC(REZ2 XP ALEPC) LAl
1,000, 000& *353CH *65% 229,450 0 229,450
HHFBAAE “=FHH WDHAMS 24,828 24,840 A2
= 6,198 6,210 A2
Al 18,630 18,630 0
201 et 0 24,840 A 24,840
= 0 6,210 26,210
Al 0 18,630 A 18,630
01 At 2teltl 0 24,840 A 24,840
Ogt=&H| 0 24,840 A 24,840
—ANZ? S80It & &H uA elA=(
hsHE L) 23 0& 0 24,840 A 24,840
= 0 6,210 26,210
Al 0 18,630 A 18,630
403 MHXSHHSA=0l& 24,828 0 24,828
= 6,198 0 6,198
Al 18,630 0 18,630
02 SJ|2S0ll CH 8HCH & AF HI 24,828 0 24,828




AN BESAD
M JUNEE
= S PN |

SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
O ANZF S8 =8 WHAEY

24,828,000 » 14! 24,828 0 24,828

= 6,198 0 6,198

Al 18,630 0 18,630

Heas(desd) 745 0 745

28XE 745 0 745

BEZ TBIY pha 745 0 745

802 BH& 2 JIEt 745 0 745

01 =2n2x3eeE= 40 0 40
020138 Az EE23 SSIIEAIAE A=A

S Ol X+ BHef 22,970& 23 0 23
020139 H20t2Z 2 03 22| A 2124H] 0]

PR=Ia= 16,890 17 0 17

02 Al - EHIEXZSEHEZ 705 0 705
O2012¢ HLEstotsZz &2k lzdd &

S RhoH B 704,850 705 0 705




